
 

Setting The Metrodome Minneapolis Oct 1987

3 hours before Game 2 of the World series
kiosks for popcorn programs

Mytypical unimpeded speed is 106 m s

but my average drift velocity To 0m s

The people current when pulled by the field is Vd 10 m s
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on an atomic level fasterspeeds increased temperature
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the relation isn'tperfectly linear butit's a reasonable
t approximation for arange of a 100 C
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Q whydoes a lightbulb turn on instantly even though Vd 104
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In this case all of the battery's potential is lost in traversing
the resistor V E R
Amore realistic depiction
batteries have internal resistance

Q what is current through R

7 vie t.EE TffirVbVa E

my myto Tied
Up V E R Ve Vd Ir VfVetE 2E IR Ir

E IR Ir

also Vf Va E 2E IR Ir Σ I



Alternatively ΣV O E IR Ir 0 I

Frominitial scenario R Y 21may 1000

DV IR 0 A 0001 100N

981mA

A 20mA currentthanks to Sasha canaffect youPod
energy is transferred butat whatrate
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